
SAP ABAP table V_T610W {Generated Table for View}

V_T610W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

BWINR [CHAR (20)]

BEHOE [CHAR (10)]

LAND1 [CHAR (3)]

T000

MANDT [CLNT (3)] V_T610W-MANDT = T000-MANDT 0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)] V_T610W-WERKS = T001W-WERKS 0..N

1
T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 V_T610W-LAND1 = T005-LAND1 
0..N1

T610B

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BWINR [CHAR (20)]

 V_T610W-BWINR = T610B-BWINR 

0..N

1

T610O

MANDT [CLNT (3)]

BEHOE [CHAR (10)]

 V_T610W-BEHOE = T610O-BEHOE 

0..N

1


